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Answer all questions.
Marks are indicated against each question.
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1. {a) Explain the sentence, “The divorce between the
ownership and control of the organisation have led

to multiple objectives of the firm™. 7V
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(b) “The firm is a coalition of group of people having
conflicting interests and the objectives of the firm
are decided in the light of these conflicts”. Do you
agree 7 Justify your answer. 7V

Or

Critically examine the Marris model of managenal
enterprise aiming at optimum growth. 15
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2. (a) What is a homogeneous production function ? ~

Prove which of the following are homogeneous
@) ¢=L"K’
(i) ¢=4L7+2LK +K?
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SL
{(1i) g = K

(iv) g = I3 + 212K+LK?+K3 TV

(b} Do you think that diminishing returns to a
factor arc consistent with increasing retumns to
scale ? Explain with suitable diagram and

reasoning. 72
Or

{¢c) Prove that a muiti product Producer producing

outputs x and y attains equilibrium

Px MP, MP,,
when — = — = 2
Py MP, MPFP,

where Px and Pz are the pricé of x and y output :
MP,, and MPx, are marginal product Qf labour and
capital in production of y and MP,, and MPy, are
marginal product of labour and capital in

production of x respectively. 15
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ifi) g = —
(iii) ¢ K

(iv) g= 17 + 2I2K+LK2+K?
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3. (a) How does a compelitive firm attain equilibrium in
a long run ? How does the equilibrium price and
output change when a unit tax is imposed on the
product? TVa
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(b) The demand and cost function of a monopolist are
given to be the followinyg :

q=50-0.5P
C=50+40q | s

Find the profit maximising level of output, price

and profit level for the monopolist.
Or
(c) Write short notes on any two : Vo474

(i) Stability of equilibium in a perfect
competitive market.

(i1} Price discrimination and dumping

(iii) Excess  capacity  under monaopolistic
competition.
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4. (a) Compare the Cournot and Stakelberg selection

to a duopoly market. Which one is more

realistic 7 15
Or

(b) Market demand is given to be P = 105 - 2.5 q and
the cost function of two firms are given as C. = 5
q and C, = 15 q;. How will the price be set as per
the low cost Jeader and how will the high cost.
leader behave ? 15
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5. (a) What is average cost pricing model and why is it

considered to be more realistic ? TV

(b} Explain the product adding up theorem as given by
Eceler. 72

Or

(c) What do you mean by economic rent ? How are

they determined ? V2

(d) “The output effect and profit maximising effect of
a decrease in wage rate results in increased
employment of both inputs”. Explain with suitable
diagrams. T2
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